DERIVATIVES

REVIEW EXERCISES 1

1. If f(x)=2x"-3x+1, then find fratx=1.

A)8 B)6 C)4 D)3 E)l

2. If f(x)=~2x-1 . thenfind f'at x=5.

1 1 1
A- B- o= D) — E)5
)2 >3 ) ) 5 )
J/ . 3
3. If f(x)- | “J ,then find f'at x=-1.
X+ 2
A6 B3 02 D)3  E)6
4. If f(x)= \/\/i% ,then f{(H)=7?
3 3 5 5 1
A B = O D)2 E) —
> ' 16 )8 "6 Vs

5. If f(x)- - L then find f"(x)=?
X

A) 2x B) 2x7° O 2 f (T

D) -2Af B

6. Which one of the followings is the slope of the line
that is tangent to the graph of the function

J(x)- 5x— x at the point A(2,6)?

A) B)1 O % D)2 E) g—

to | —

7. Ifthe curve y = x’+ 2 and the line y = mx are

tangent. find m.

A Byl 0)2 E)5

8. Find the equation of the line which is parallel to x-

axis and tangent to the curve

S ==-3)2x+ 1D

5 49
A) y== B) y=-—2 C) y=1
)y 2 )y 3 ) y=x
57 5
D) y= — E) y="x
) ¥y 3 )y i

9. Find the equation of the line that is tangent to the

curve x’ - y* =1 at the point A(1.1)

Ay y==x C)yv=--x

D) y=2x+1

B) y=2x
E) y=x+2

10. The function y = f(x) is defined as

x%+2xp-3y® — 4x+ 11= 0. Which one of the

followings is the equation of the line that is tangent
to the graph of the function at the point (2.-1) ?

A)2x-y-3=0 B)x-5y-7-0
C) x+3y-1=0 D)2x-3y-7-0
E)3x-y+4=0

11. Find the equation of the line which is tangent to the
curve x’y-3xy— x+ y+ 3= 0 at the point y=1

A) y=1 C)y=x

D) y=-x

B) y=x+1
E)y y=-x+1

12. Find y” for the implicit function ﬁ r=2va
at the point A(a, a).

A)—l— B)1 OVa D+ B
Ja a
13. If y=2”+2 and u = 2x” — x , then find ;l_y
X
A) 4x-1 B) 2 (25" x)
C) (8x-2) D) 2-(2x* - x)-(4x-1)
E) u-(4x-1)




CONTINUITY

REVIEW EXERCISES I

1. The function f(x) is defined as
ax+ b, x> -1
Sxy-+ 4 L x=-1
P2b L x<-1
If the function f(x) is continuous at x = —1,then

a+b-"
A4  B)-2 C)o D)2 E)4
ax+ 2

2. f®m >9Lf(x):J x

[ ax-1,x22

<2

If the function f(x)is continuous at the point
x=2.what s the value of a?

Ayl B)2 )3 D)4 E)S

3. Which one of the
followings is false ?

Ay lim f(x)=-2 .
X -ll
B) lim f(x)=3 1 2

C) The function f(x)is continuous at x=1.

D) The function f(x)is discontinuous at x=2.
E) The function f(x) has a limit at x = 3, but not
continuous

4. What is the value of real number a, if

)
x+6 .. .
f(x)= ———— is discontinuous at x= 2.
X"+ X-a

A)-3 B)O C)2 D)3 E)6

(2x-3,x>0

5. The tunction fis defined as f(x)= J k-1,x=0.

[2a+k,x<0

It the function fis continuous at x= 0, find (a,k) .

AT B 52

1 1
E) (2. 2)




